Multiplicar Tres Polinomios (J)

DO

Ot

Simplifique cada expresion.

- (2k° + 3K*)(—2k — 2)(2k* — 5k — 5)

(25% — 35%)(9s — 8)(65° 4 4s* 4 857)

(4% 4 4o) (=700 + o) (20" + 90 — 20?)

(—a® + 3a")(—8a" + 8a*)(5a® — 9a — 1)

- (=5d® — 2d*)(—5d + 4)(5d° — d* — 2d)
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Multiplicar Tres Polinomios (J) Respuestas

[\

Ut

Simplifique cada expresion.

(2K + 3kY) (—2k — 2)(2k* — 5k — )
= —8k® 4 58k° + 80k° + 30k*

- (25° — 35%)(9s — 8)(65” + 45" + 857)
— 108s” — 1865% + 11657 — 24855 + 1925°

(4% 4 4o) (=700 + o) (20" + 90 — 20?)
= =560 — 30000 — 15207 + 840° — &7

(=a® + 3a*)(—8a* + 8a*)(5a® — 9a — 1)
= 40a™ — 232a"° + 400a° — 184a® — 244"

(=5d® — 2d*)(—5d + 4)(5d® — d* — 2d)
= 125d° — 75d° — 80d" + 28d° + 16d°
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